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Q1 - How likely are you to vote in the general election for federal and state
offices in November?
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Q2 - If the General election for Governor were held today, would you be voting
for Republican Rick Scott, Democrat Charlie Crist, or Libertarian Adrian
Wyllie?
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Q3 - If the General election for Attorney General were held today, would you
be voting for Republican Pam Bondi, Democrat George Sheldon, or Libertarian
Bill Wohlsifer?

Q4 - If the General election for Chief Financial Officer were held today,
would you be voting for Republican Jeff Atwater or Democrat William Rankin?
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Q5 - This November, there will be an amendment on your ballot to dedicate
funds for acquiring and restoring conservation and recreation lands. If the
General election were held today, would you be voting yes in favor of this
amendment, or no against it?
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Q6 -This November, there will be an amendment on your ballot to legalize the
use of marijuana for medical purposes as prescribed by a physician. If the
General election were held today, would you be voting yes in favor of this
amendment, or no against it?
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Q7 - Party

Q8 - Age

Q9 - Gender
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